Music 109 PRACTICE Test 2 (Fall 2016)

Write the indicated intervals. Do not alter the given note. (2 pts each)
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Write an ascending Bb harmonic minor scale. Use individual accidentals as needed, with no key signature. (2 pts)
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Write the indicated pentatonic scales. (2 pts each)
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Complete the following list of scale-degree names. (7 pts)
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Write the indicated triads or seventh chords from the lead-sheet chord symbols. (2 pts each)
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1) Provide the appropriate key signatures (1 pt each) and
2) Write the indicated triads or seventh chords in the correct inversion. (2 pts each)
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Provide: 1) roman numerals, below the staff, including figured-bass numbers as appropriate (2 pts each) and
2) an appropriate lead-sheet chord symbol above the staff, with slash notation as appropriate. (3 pts each)
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List as many errors as you can find with the following 1st-species counterpoint (there are about 10 total).
Indicate exactly where and what each error is; yqu may write on the score to clarify your responses. (10 pts)
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Define the following precisely, including the approach and resolution. (2 pts each)
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